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Multiple Choice 

 

Find the value of numerical expression. Follow the order of operations when finding each value. 

 

 

5. Solve the following problem 

 

1. What is the value of the expression 𝟐𝟑 ∗ 𝟑 − 𝟒 + 𝟏?            
 

 a.)  𝟏𝟓 b.)  𝟐𝟏 

 c.)   𝟐𝟓 d.)  𝟐𝟒 

2. What is the value of the expression  𝟏𝟓𝟎 ∗ 𝟑 − 𝟒 + (𝟐𝟑 ∗ 𝟑 − 𝟖𝟐)𝟐 ?            
 

 a.) 𝟒𝟕𝟏 b.) 𝟒𝟓𝟗 

 c.)  𝟓𝟓𝟒 d.) 𝟐𝟒𝟎 

3.     𝟏𝟎𝟎 ÷ 𝟓 − 𝟒 ∗ 𝟑 + (𝟑 ∗ 𝟑 − 𝟐𝟐)𝟐 
 

  
 
 
 

4.     [(𝟑𝟒𝟑 ÷ 𝟕𝟐) + 𝟕 ∗ 𝟏𝟎]𝟐 − (𝟐𝟏𝟔 ÷ 𝟔𝟐 − 𝟏) = 
 

  
 
 
 

 Colin has $2,000 and he invested in stock. In one day, his money was doubled. The next day he got a 
profit of $1,000 and later loss of $456. Write an expression for this and determine his present 
amount. 
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ANSWERS 

Multiple Choice 

 

 

Find the value of numerical expression. Follow the order of operations when finding each value. 

 

1. What is the value of the expression 𝟐𝟑 ∗ 𝟑 − 𝟒 + 𝟏?            
 

 a.)  𝟏𝟓 b.)  𝟐𝟏 

 c.)   𝟐𝟓 d.)  𝟐𝟒 

2. What is the value of the expression  𝟏𝟓𝟎 ∗ 𝟑 − 𝟒 + (𝟐𝟑 ∗ 𝟑 − 𝟖𝟐)𝟐 ?            
 

 a.) 𝟒𝟕𝟏 b.) 𝟒𝟓𝟗 

 c.)  𝟓𝟓𝟒 d.) 𝟐𝟒𝟎 

3.     𝟏𝟎𝟎 ÷ 𝟓 − 𝟒 ∗ 𝟑 + (𝟑 ∗ 𝟑 − 𝟐𝟐)𝟐 
 

     𝟏𝟎𝟎 ÷ 𝟓 − 𝟒 ∗ 𝟑 + (𝟑 ∗ 𝟑 − 𝟐𝟐)𝟐 = 
= 𝟐𝟎 − 𝟏𝟐 + (𝟑 ∗ 𝟑 − 𝟒)𝟐 = 
= 𝟐𝟎 − 𝟏𝟐 + (𝟗 − 𝟒)𝟐 = 
= 𝟐𝟎 − 𝟏𝟐 + 𝟓𝟐 = 
= 𝟐𝟎 − 𝟏𝟐 + 𝟐𝟓 = 
= 𝟖 + 𝟐𝟓 = 
= 𝟑𝟑 
 

4.     [(𝟑𝟒𝟑 ÷ 𝟕𝟐) + 𝟕 ∗ 𝟏𝟎]𝟐 − (𝟐𝟏𝟔 ÷ 𝟔𝟐 − 𝟏) = 
 

     [(𝟑𝟒𝟑 ÷ 𝟕𝟐) + 𝟕 ∗ 𝟏𝟎]𝟐 − (𝟐𝟏𝟔 ÷ 𝟔𝟐 − 𝟏) = 
= [(𝟑𝟒𝟑 ÷ 𝟒𝟗) + 𝟕 ∗ 𝟏𝟎]𝟐 − (𝟐𝟏𝟔 ÷ 𝟑𝟔 − 𝟏) = 
= [𝟕 + 𝟕𝟎]𝟐 − (𝟔 − 𝟏) = 
= 𝟕𝟕𝟐 − 𝟓 = 
= 𝟓, 𝟗𝟐𝟗 − 𝟓 = 
= 𝟓, 𝟗𝟐𝟒 
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5. Solve the following problem 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Colin has $2,000 and he invested in stock. In one day, his money was doubled. The next day he got a 
profit of $1,000 and later loss of $456. Write an expression for this and determine his present 
amount. 

     𝟐, 𝟎𝟎𝟎 ∗ 𝟐 + 𝟏, 𝟎𝟎𝟎 − 𝟒𝟓𝟔 = 
= 𝟒, 𝟎𝟎𝟎 + 𝟏, 𝟎𝟎𝟎 − 𝟒𝟓𝟔 = 
= 𝟓, 𝟎𝟎𝟎 − 𝟒𝟓𝟔 = 
= 𝟒, 𝟓𝟒𝟒 
 


